
Ƒ = digamma 

Root Present Future 

*ag a]gw a]xw 

ajp + *stel ajpostejllw ajpostelw'1 

*ar ai]rw2 ajrw' 

*bal bavllw balw'3 

*gen givnomai genhvsomai4 

*gno ginwvskw gnvwsomai5 

*ejrc, *ejleuq e]rcomai ejleuvsomai6 

*esqi, *fag ejsqviw7 favgomai8 

*leg, *Ƒer, *Ƒip levgw ejrw' 

*oJra, *op, *Ƒid oJravw o]yomai9 

                                                 
1
 Liquid future 

2
 The iota is added to the root to form the present tense stem. 

3
 Liquid future 

4
 Future middle deponent 

5
 Future middle deponent 

6
 *eleuq. Future middle deponent 

7
 Formed from two different stems, *esqi (used in the present) and *fag  (used in the future and aorist).  

8
 *fag. Future middle deponent.  

9
 *op. Future middle deponent 



 


